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3h, v 2B, + B, =1 3 2 14978, 7

2f, v 26, +H, =5}t--> 12 2 1|8, 5

B+ B, 448, =1 1 1 44L7%, -1
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Rov | C, ¢, |c, C, E, E, E, Check
R 3] 2 1 7 1 0 0 14
R (2] 2 1 5 0 1 0 11
R, (0] o | 4 -1 0 0 1 6
el o] ] -
v, | 1| e l] T 13 { 0 0 14/3
R, | * | 2z/3 | |uss] || 1s3 (:::) (::> 0 5/3
r, | o+ 1 | 12 172 -1 372 0 5/2
|| ||| || OLGR| D)
e, | #| * | 1 -1 o | -w7 | a7 17
B, 1 1| o
B, 117 | -1/7
B, 2/7
3 r: §, = -1
A A w A
A r,: B+ (/D)8 = 1/2 Relu B, = (1/2) + (1/2)
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Am o, B, o+ (DR, (UDE, = T/3
Feti B, = (7/3) - (2/3) + (1/3) = B/3
B, 2
A
B=|6, =11
A
By -1
3 2 1q-1 T -7 0
2 2 1| = uD| -7 11 -1
11 4 o 1 2
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4.2 n8118 4.1 dmTuTsuudgunag

2h, + B, + 38, - B, =8
B o4 f,- B, 8, =1
3/, -8, + 38, -2, =2
Bov B, - 26, ¢ 4B, =1
2 1 3 -1-qr8, 8
S T T T SR U B Y R S
3 -1 3 -2 {]®%, 2
11 -z 4dblg, 1
?ﬂﬂa11ﬂ0§Q1§%E§§RLaaaéﬂﬁﬁa
N r,: Q‘ =1
am r,: B, - (1/D)F, = 35/14
Gafin 7. = (35/14) + (/) = 3
LRI ] ?a - 533 + 334 = ~-10
fefu 5, = -10 + 15 -3 =2
e,z B, ¢ (b, ¢ BB, - Dk, = 4
el g, =4 -1 - /4 (/= -1
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4.2 Taan1T18I00ARL ARAE 198
Rov j ¢, |c, |e,|c. ]| ¢ |&E, E, E, E, | Check
(sum)
R,’| 2 1 3 -1 8 1 0 0 0 14
R |1 f-1 1 -1 0 1 0 0 2
R [¢3) |- 3 -2 2 0 0 1 0 6
R -Df o [-2 4 1 0 0 0 1 4
Lol ol ]
r, | 1 [1/2 |372 |[-1/2 4} 1/2 0 0 0 7
R, | *+ [1/2 [5/2 (::) -5 (:::) (:j) 0 0 -5
r, | * 1 |-5 3| -10 ] -1 2 0 o | -10
ol e leelof o«
ro |+ | * 1 |-1/2l35/14] 2/7 [-5/14 |-1/14 0| 20/7
o fe [0 o |55 O ]GR| @ Q) s
N EENERE 1 1 0 -1/5 1/5 2/5] 12/5
B, -127 3/7 2/7 0
B, 11/35)-18/35| -1/5
B, 1735| 1/5
B, 2/5
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1.3 Tasny183anaR1 Ragdresa

Row | € | €, c, C, E, E, E, Check(sun)
o'l 8| 0 | 12 290 L 0 0 168
R (9 855 | 10w 289 | 0 1 0 1883.9
R,| (1200 (101) | 2110 57,2 | 0 0 1 9212.2
R, | 8 120 290 t 0 0 168
r| t]6is| 15 %35 | 0.135 0 § 56.5
R, | ¥ 254875 488.65 | -6.135 | 1 b 2017.4
v, | %] 1 |1.0946342] 5.8407062 -0.0240313 [0.0039234 | ©  |7.9152625
R | t] ¢ |Coounme)-ta.o5ronse| 2050473 |-Luowezes | 1 |-16.1565048
r,| ¢| % | 1 |-2.691296 |-1.8066659 |-0.2384043 [0.2077847 |-3.518572t
B, 15.2589682 | 1.9535965 |-1.8066652

B, 0. 2648875  |-0.2384043

B, 0.2177497
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2)

3)

-2.6912966 = -2.89

+ 1.09465428, = 5.8407062, §, = 8.7B67453 = 8.79
6.1258, + 156, = 36.25, A, = 22.8006

-+

= [22.80 8.79 -2,691]

R(p) = = R ,r,, = (290)(36.25)+(1488.65) (5.8407062)

+(-12.3570298) (~-2.6912966)

H

19240.5237168

Q
1

= [Y’Y - R(p)¥/(n - 3)

(19286.9 - 19240.5237)/5

]

9.2754

22.8 + B.79T, - 2.69T,

nagay H : 8, = g, = 0 uas H:p=0

HZ 81
BE
R(¥,> = R(p,) = R r,_

290(36.25) = 10512.5

a

R(uz ¥) = X R‘or‘o

i=0

= (1488.65)(5.8407062)+(-12,.3570298) (-2.69129686)
= 8728.0237
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ANOVA H,: 5

O,HZBl:ﬁ:D

s.v. d.f. ss NS fc

Due to s 3 192405237 | 64135076 | 691.45""

Due to B,(unadj.) 1 10512.5

Due to 8,, s,(adj.) | 2 8728.0237 | 4364.0118 | 470.49""

Error 5 46.377 0.2754 |
-

Total (uncorrected) 8 19286.9

f(S-S)..O: = 12.06, f(z.s). .01 = 1327

sT 313 (H)



